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3
1. Given sinE = 5 ,find cosE

(i) - (i) > (iii) 4 (iv) > (v) 3
3 3 5 4 4
. ) 5 _
2. Given sinB=-— ,find tanB
13
(i) 2 (ii) 3 (iii) 13 (iv) 12 (v) >
13 12 5 5 12
) ) 5
3. Given sinD = -— ,find cotD
13
R S R (= T
i s ii 3 iii 5 iv 13 Y 13
. ) 3 .
4, Given SII"IH=§ ,find secH
(i) > (ii) > (iii) 4 (iv) > (v) 4
3 4 5 4 3
) ) 4
5. Given smF=g ,find cosecF
(i) > (ii) > (iii) > (iv) > (v) 4
3 4 5 4 3
. 12 .
6. Given coskE = — ,find sinE
13
(i) 13 (ii) 12 (iii) > (iv) 13 (v) >
12 5 12 5 13
) 15
7. Given cosG = — ,find tanG
17
(i) L (ii) 8 (iii) 8 (iv) 1> (v) L
i) - i) - iii) - iv) - V) -
8 17 15 8 15
. 4
8. Given cosC=g ,find cotC
(i) 4 (ii) 3 (iii) > (iv) > (v) 3
3 5 4 3 4



15
9. Given cosC = 17 ,find secC

(i) Y (i) 8 (iii) 8 (iv) Y (v) =
g () oo i) v) e (v)

15
10. Given cosG = 17 ,find cosecG

(i) L (i) 2 (iii) = (iv) Y (v) 2
) g () oo (i (v) (V)

5
11. Given tanN = -12 ,find sinN

(i) ° (if) L2 (iii) = (iv) = (v) L2
13 13 5 12 5

3
12. Given tanB = -4 ,find cosB

(i) 4 (ii) > (iii) > (iv) 4 (v) >
5 5 4 3 3
. 8
13. Given tanC= -15 ,find cotC
(i) L7 (ii) L7 (iii) L (iv) 8 (v) 15
| I 111 v - Vv
8 15 17 17 8
. 5
14. Given tanG = -12 ,find secG
(i) 12 (ii) 13 (iii) L3 (iv) 12 (v) >
i) - i) - iii iv) - V) -
13 5 12 5 13
. 5
15. Given tanN = -12 ,find cosecN
(i) 12 (ii) > (iii) 13 (iv) 12 (V) 13
| - I - 111 - v - Vv -
5 13 5 13 12
. 4 )
16. Given cotG = 3 ,find sinG
(i) 3 (ii) 4 (iii) > (iv) 3 (v) >
5 5 3 4 4
. 3
17. Given cotC= 3 ,find cosC
(i) > (ii) : (iii) > (iv) > (v) :
| - I I - v - \" -
4 5 3 5 3



18.

19.

20.

21.

22.

23.

24,

25.

26.

4
Given cotK = 3 ,find tanK

(i) 3 (ii) 4 (iii) > (iv) >
4 5 5 4
. 4
Given cot] = 3 ,find sec)
(i) 3 (ii) 4 (iii) > (iv)
4 5 4
. C
Given cotB = r ,find cosecB
(i) > (ii) 3 (iii) > (iv)
4 5 3
. 5 .
Given secK=-3 ,find sinK
(i) 3 (ii) 3 (iii) > (iv)
4 5 4
. 13
Given seckE = — ,find cosE
12
(i) 13 (ii) > (iii) > (iv)
5 12 13
. 5
Given secE = -3 ,find tanE
(i) 4 (ii) 3 (iii) 4 (iv)
i s ii s iii 3 iv
. 17
Given secB = — ,find cotB
15
(i) -15 (ii) -8 (iii) -8 (iv)
17 15 17

13
Given secG = 13 ,find cosecG

(i) 2 (i) > (iii) > (iv)
oo ) o i o (v

5
Given cosecE = 3 ,find sinE

(i) 4 (ii) > (iii) > (iv) >
3 4 5

12
13

17

13

12
13



27.

28.

29.

30.

31.

32.

33.

34.

35.

13
Given cosec] = 5 ,find cosJ

(i) > (i) > (iii) = (iv)
T L U = U

17
Given cosecA = 3 ,find tanA

(i) = (i) = (iii) = (iv)
oo () g i o (v

5
Given cosecG = -3 ,find cotG
(i) 4 (ii) 3 (iii) > (iv)
3 4 4

13
Given cosecB = -5 ,find secB

(i) > (i) 3 (iii) = (iv)
e LU U e O

1
Given sinP=-3 ,find cosP

13
12

17

13

W 12

V13

(v) 8
15

3

5

W 12

Vi

(i) 2\/'2 (i) 3 (iii) i\/'Z (iv) 2v2 (v)

1
Given sinG = -7 ,find tanG
. . N S
(i) 4v3 (i) 7 (iii) 7\/3 (iv)

2
Given sinE = 5 ,find cotE

(i) 2 v21 (i)
21

2
Given sinD = 3 ,find secD

1 .
V3 (v)

12

(iii) 1\/'21 (iv) > V21 (v) 1\/'21
i - I\ : \" -
2 21 5

(i) -3x/'5 (ii) -1v'5 (iii) -1\/5 (iv) -zv'5 (v)
| 5 I 5 11 3 AV 5 Vv

6
Given sinC = > ,find cosecC

(i) -1\/13 (i) o V13 (iii) -1\/13 (iv) ! v13 (v)
i ; i 13 iii c iv 13 %



36.

37.

38.

39.

40.

41.

42.

43.

44,

2
Given cosD = 5 v6 ,find sinD

(i) > Ve (i) ! (iii) E V6 (iv) 5 (v) 2v6
15 ) o (i) iv v

1 .
Given cosC = '6 v35,find tanC

(i) ° V35 (ii) 2 V35 (iii) ! (iv) 6 (v) v35
o2 i o i) o (v v

1 .
Given cosP = -2 V3 ,find cotP

(i) 2\/3 (i) 2 (iii) ;\/3 (iv) V3 (v)

1 .
Given cosB = -7 V33 ,find secB

(i) ! (i) 1\/'33 (iii) : (iv) ! V33 (v) 4\/33
o oy i) o (V) o3 V) 33

2 .
Given cosE = -5 V6 ,find cosecE

(i) 2v6 (i) 5 (iii) ! (iv) = V6 (V) > V6
i i i) ) v 5

1
Given tanD = -3\/3 ,find sinD

(i) : (i) 2 (i) v3 (iv) '2‘/3 (v) l\/3
) o (i iii v) 3 V)

2
Given tanF = 5 V5 ,find cosF

W 2 oy 2 i 1vs v Svs v L
2 3 3 5 2

1
Given tanC = 35 v35 ,find cotC

(i) o v35 (i) ! (iii) 1 V35 (iv) 6 (v) v35
| 35 1l 6 1l 6 v Vv

5
Given tanP = 5 V6 ,find secP

7

(i) '2\/6 (ii) / V6 (iii) '2\/-6 (iv) > (V)
) o ve (i) i) —ve (v) 5 (v) ¢



45,

46.

47.

48.

49.

50.

51.

52.

53.

2
Given tanD = 5 V5 ,find cosecD

(i) -3\/'5 (ii) -1\/5 (iii) -1\/5 (iv) 2 (v)
5 2 3 3

3
Given cotM = > V5 ,find sinM

(i) 3\/5 (if) 2 V5 (iii) ! (iv) J V5 (v)
= L i) o (V) oo vl oG

1 .
Given cotC = 5 v5 ,find cosC

(i) 2 (ii) 3\/5 (iii) 1\/5 (iv) 2\/5 (v)
3 5 3 5

1 .
Given cotA = -5\/11 ,find tanA

(i) > V11 (i) o V11 (iii) 1\/11 (iv) 6 (V)
11 11 6 5

1 .
Given cotG = -2 v5 ,find secG

(i) 3\/'5 (i) 2\/'5 (iii) 1\/5 (iv) 2 (v)
5 5 3 3 2

1
Given cotH = -2 v21 ,find cosecH

(i) > (i) > V21 (iii) '1\/21 (iv) 2 (v) g v21
N O i) o v) o) oo

4
Given secC = -7 V7 ,find sinC

(i) 4 (ii) 1\/7 (iii) 1\/'7 (iv) 3\/7 (v)

| - I - 11 - v - Vv

3 3 4 7
. 3 .
Given secK = 4\/2 ,find cosK
(iy 2v2 (i) 2\/'2 (iii) 3 (iv) L (v) 1\/'2
i i) - iii iv) - V) -
3 3 4

. 7 -
Given secG = 5 V3 ,find tanG

(i) 4v3 (i) : (iii) '4\/3 (iv) 7 (v) = V3
i ) o (i) o iv V) 1



54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

4
Given secG = 15 V15 ,find cotG

(i) 1 v15 (i) v15 (i) 4 (iv) ! (v) E v15
| 4 I 11 v 4 Vv 15

2 .

Given secC = -3 V3 ,find cosecC

(i) 1\/3 (iiy 2 (i) v3 (iv) ! (v) 1V3

i ii iii iv Y

2 2 3

) 7 .
Given cosecN = -2 ,find sinN

L2 2 .3 . 7 3
(i) v5 (i) (iii) V5 (iv) V5 (v) 2\/5

15 7 7 15

7
Given cosecH =-2 ,find cosH

(i) 2 (i) 3\/"5 (iii) ’ V5 (iv) 3\/5 (v) ’ V5
i ; i - iii 15 iv 3 v 15
Given cosec) =2 ,find tan]

(i) v3 (ii) 2w/'3 (iii) -1\/3 (iv) : V3 (v) :

i i 3 iii 3 iv 5 % 3

Given cosecF =3 ,find cotF

(i) 2v2 (i) 2 V2 (iii) 1 V2 (iv) ! (v) 3v2
| 1 3 11 4 \Y 3 Vv 4

Given cosecM =3 ,find secM

(i) 2v2 (i) 1w/2 (iii) -2\/2 (iv) ! (v) 3‘/2
i i i) 5 v) 5

Given that13sin® = 5, find cos6

(i) L2 (i) ° (iii) = (iv) = (v) L2
oo (i) o i) o v o (v) g

Given that5sin® = 3, find tan®6

(i) 4 (ii) > (iii) > (iv) > (v) 4

3 3 4 4 5
Given that17sin6 = 8, find cot6

15 8 17 15 17

(i) 3 (ii) 15 (iii) 3 (iv) 17 (v) 15



64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

Given that17sin® = 8, find sec6

(i) Y (i) = (iii) = (iv) 8
e L L e L

(i) 15 (ii) 17 (iii) L7 (iv) 15 (v)
i) - ii i) - iv Y,
17 8 8
Given that5cos6 = 4, find sin®
(i) 3 (ii) 4 (iii) 3 (iv) > (v) >
| - I I - v - \" -
5 3 4 3 4
Given that5cos6 = 3, find tan®
(i) '4 (ii) > (iii) 4 (iv) > (v) '5
3 4 5 3 4
Given that17cos® = 15, find cot6
(i) 15 (ii) 17 (iii) 8 (iv) 8 (V)
| I - 111 v Vv
8 8 15 17
Given that13cos® = 12, find sec6
(i) > (ii) 13 (iii) 12 (iv) > (v)
i ii iii iv v
12 5 5 13

Given that13cos® = 12, find cosec®

(i) (ii) (iii) > (iv)

i i = iii 13 iv

Given that3tan® = 4, find sin®

(i) > (ii) > (iii) > (iv) 4 (v)
5 4 3 5

Given that15tan6 = 8, find cos®6

(i) L (i) L (iii) ° (iv) Y
) g ) g (i) o (V)

Given that12tan6 = 5, find cot6

15

17

15

13
12

13
12

15
17



74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

Given that3tan® = 4, find secH

U)-3 (if) > (ifi) : (iv) > (V)
5 4 5 4

Given that12tan6 = 5, find cosec6

.5 . .
(i) 13 (ii) T (iii) s (iv) s

Given that4cot® = 3, find sin®

U)-S (if) > (iii) : (iv) > (V)
4 3 3 5

Given that3cot® = 4, find cos®6

U)'3 (if) > (ifi) > (iv) : (V)
5 3 4 5

Given that5cot® = 12, find tan®

(i) = (i) > (iii) > (iv) =
12 13 12 13

Given that5cot® = 12, find sec6

(i) > (i) > (iii) = (iv) =
o3 ) oo (i) o (v o

Given that8cot® = 15, find cosec®

(i) Y (i) 8 (iii) Y (iv) »
oo () oo (i) o (v) oo

Given that3sec6 = 5, find sin®
(i) > (ii) > (iii) 4 (iv) 4 (v)
i ii iii iv v
4 4 3 5

Given that3sec® = 5, find cos6

(i) : (ii) > (iif) . (iv) > (v)
g )y i) (iv) (v

Given that3sec6 = 5, find tan®

(i) > (if) : (ifi) > (iv) : (V)
4 5 5 3

5
3
()12
v) -
13
4
5
_5
4
()13
v) -
5
()13
v
5
(v) 8
v
15
3
5
3
5
5
4



84.

85.

86.

87.

88.

89.

90.

Given that12sec6 = 13, find cot6

(i) 2 (i) > (iii) B (iv) 2 (v) >
o3 ) o3 G v )

Given that4sec® = 5, find cosec6

(i) '3 (ii) > (iii) > (iv) 4 (v) 4
5 4 3 5 3
Given that5cosec6 = 13, find sin©
(i) 12 (ii) > (iii) 12 (iv) 13 (v) >
| - I - 111 - v - Vv -
5 12 13 12 13
Given that3cosec® = 5, find cos6
(i) '3 (ii) 4 (iii) 4 (iv) > (v) '5
4 3 5 5 4
Given that5cosec6 = 13, find tan®
(i) > (i) 13 (iii) 12 (iv) 12 (v) >
| I - 111 v Vv -
13 12 13 5 12
Given that8cosec6 = 17, find cot6
(i) 8 (ii) L (iii) 8 (iv) 15 (v) 15
i ii iii iv v
15 15 17 17 8
Given that8cosec6 = 17, find sec6
(i) 8 (ii) L (iii) L7 (iv) 15 (v) 8
i i iii iv v
15 17 15 8 17
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